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Hong Kong citizens aged 18 or above speaking Cantonese or Mandarin
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A dual-frame method consisting of landline and mobile was adopted. Samples were
randomly selected using a CATI (Computer-Assisted Telephone Interview) system. 1,003
respondents aged 18 or above speaking Cantonese or Mandarin were interviewed. 497
were surveyed on landline and 506 on mobile with respective response rates of 30.6% and
30.0%. The sampling error is within £3.09% at 95% confidence level, satisfying the
scientific standards of survey.
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As the survey sample adopted a dual-frame method, all data were weighted by the
probability of being sampled and the latest proportion of gender and age according to the
Census and Statistics Department, to better represent the distribution of the Hong Kong
population,. The figures in this survey may not add up due to rounding errors and
weighting.
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Survey Results
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Note: All data were weighted for analysis. When calculating the mean, samples responded “88. Don’t know / Difficult to

say” are excluded

IR AR T T R T BRI EREEEER - MR RE TIREARER, o ToRE TIFER
B 0 IWEREELITEBGEEREEEEIE ? ) (QLEQINIXFFEEI%ETR)
‘We would like to know how the public understands “one country, two systems” in Hong Kong. On a scale where
1 indicates “strongly disagree” and 7 indicates “strongly agree”, to what extent do you agree with the following
descriptions of Hong Kong after the handover?’ (The sequence of Q1 to Q9 will be randomly displayed)

Ql "HEFrie  BAETIHSHEEE  BITRERENTHER - (REREREE? 1277 Kg#®
L7

Q1 ‘After the handover, Hong Kong has been able to practice a high degree of autonomy, and has been able to
handle its own internal administrative affairs. To what extent would you agree? From 1 to 7, what score will you

give?’
HESL Horth AHRE EN (=l
Frequency Percentage Valid % Cumulative %
1. 1 238 23.8 23.8 23.8
2. 2 146 14.6 14.6 38.4
3. 3 161 16.0 16.0 54.4
4, 4 128 12.8 12.8 67.1
5. 5 137 13.7 13.7 80.8
6. 6 85 8.4 8.4 89.2
7. 7 78 7.8 7.8 97.0
88. IEHIE / 1FEEE
RIS / SR 30 3.0 3.0 100.0
Don’t know/ Difficult to say
4E=1(Total) 1003 100.0 100.0
HXEA Valid Sample: 1003 F{EAEZA Omitted Sample: 0
SE¥543 Mean: 3.36 fEiEsE Standard Deviation: 1.942



Q2 "[EEFZi%  FHRBEMRFEEILEIEE - ITERERIE ? 1277 (REHEKEZDE?
Q2 “After the handover, Hong Kong has been able to maintain independent judiciary powers. To what extent would

you agree? From 1 to 7, what score will you give?’

BB Horte HRHE 7t EN (=l
Frequency Percentage Valid % Cumulative %
1. 1 224 22.4 22.4 22.4
2. 2 154 15.3 15.3 37.7
3. 3 128 12.7 12.7 50.5
4. 4 136 13.6 13.6 64.1
5. 5 140 13.9 13.9 78.0
6. 6 103 10.3 10.3 88.3
7. 7 97 9.7 9.7 98.0
88. TEAIE / Wk 20 2.0 2.0 100.0
Don’t know/ Difficult to say
ga=tTotal 1003 100.0 100.0
HREA Valid Sample: 1003 H{EAEZA Omitted Sample: 0
3543 Mean: 3.52 fE%EZE Standard Deviation: 2.009

Q3 T[EEFZI%  THREERFEEIIILEE - ITARERIE ? 1270 (REHEKEZDIE? |
Q3 ‘After the handover, Hong Kong has been able to maintain independent legislative powers. To what extent

would you agree? From 1 to 7, what score will you give?’

AR Hortk HRHE 7 EN T (=P
Frequency Percentage Valid % Cumulative %
1. 1 239 23.9 23.9 23.9
2. 2 160 16.0 16.0 39.8
3. 3 137 13.6 13.6 53.4
4. 4 124 12.3 12.3 65.8
5. 5 150 15.0 15.0 80.8
6. 6 86 8.6 8.6 89.4
7. 7 67 6.7 6.7 96.0
8. TEAIE / Sk 40 4.0 4.0 100.0
Don’t know/ Difficult to say
4E=1Total 1003 100.0 100.0
HRkEA Valid Sample: 1003 i EEEA Omitted Sample: 0
SE354y Mean: 3.32 fH%EZE Standard Deviation: 1.931



Q4 T[HEFZi% » BFAENBEERIFAMAE T - IRARERE ? 1277 » (REHRESIE ? |
Q4 “ After the handover, the original ways of life of the Hong Kong people have maintained. To what extent would

you agree? From 1 to 7, what score will you give?’

BB Horte HRHE 7t EN (=l
Frequency Percentage Valid % Cumulative %
1. 1 164 16.4 16.4 16.4
2. 2 152 15.2 15.2 315
3. 3 169 16.8 16.8 48.4
4, 4 121 12.1 12.1 60.4
5. 5 133 13.3 13.3 73.7
6. 6 139 13.9 13.9 87.6
7. 7 107 10.6 10.6 98.2
88. TEAIE / Wk 18 18 18 100.0
Don’t know/ Difficult to say
ga=tTotal 1003 100.0 100.0
HREA Valid Sample: 1003 H{EAEZA Omitted Sample: 0
SZ¥543 Mean: 3.76 fE%EZE Standard Deviation: 1.977

Q5 EfFsi%  FHHEEHEZASWEN - EXERIE ? 1277 (REEEZIE? |
Q5 “After the handover, Hong Kong continues to enjoy the freedom of speech. To what extent would you agree?

From 1 to 7, what score will you give?’

AR Hortk HRHE 7 EN T (=P
Frequency Percentage Valid % Cumulative %
1. 1 293 29.2 29.2 29.2
2. 2 152 15.2 15.2 44.4
3. 3 133 13.2 13.2 57.7
4, 4 89 8.9 8.9 66.5
5. 5 133 13.3 13.3 79.9
6. 6 95 9.5 9.5 89.3
7. 7 88 8.8 8.8 98.2
8. TEAIE / Sk 18 18 18 100.0
Don’t know/ Difficult to say
99. IRE&E[EE 1 01 e
Refused to answer Omitted
4=t Total 1001 100.0 100.0
HRkEA Valid Sample: 1002 B EEEA Omitted Sample: 1
SE354y Mean: 3.26 fH%EZE Standard Deviation: 2.054



Q6 "[EEF%  THARIREBHSE  EAERIEARGHE - EFEtEE - IERERE? 12
753 0 ARG &L IR ?
Q6 ‘After the handover, the development of Hong Kong’s democratic system has been progressively implemented,

following the provision of the Basic Law. To what extent would you agree? From 1 to 7, what score will you give?’

SR8 B4 AxEStE  BRESHT
Frequency Percentage Valid % Cumulative %

1. 1 324 32.3 32.3 32.3
2. 2 137 13.7 13.7 46.0
3. 3 129 12.9 12.9 58.9
4. 4 100 10.0 10.0 68.9
5. 5 130 13.0 13.0 81.9
6. 6 92 9.2 9.2 91.1
7. 7 58 5.8 5.8 96.8
88. TEALE / SriEh 32 3.2 3.2 100.0

Don’t know/ Difficult to say

4=t Total 1003 100.0 100.0
BHRREA Valid Sample: 1003 BHYEREA Omitted Sample: 0
154y Mean: 3.08 fEAEZ Standard Deviation: 1.980

Q7 T[HEFZi% » FAENEEREERDAT—EEE - IRARERE ? 1277 (RGHRES0IE ? |
Q7 ‘After the handover, Hong Kongers continue to be treated equally before the Law. To what extent would you

agree? From 1 to 7, what score will you give?’

AR Horth BHRE FIEE L
Frequency Percentage Valid % Cumulative %
1. 1 240 23.9 24.0 24.0
2. 2 100 10.0 10.0 34.0
3. 3 119 11.9 11.9 45.9
4. 4 148 14.7 14.7 60.6
5. 5 131 13.0 13.1 73.7
6. 6 114 11.3 114 85.1
7. 7 130 13.0 13.0 98.1
8. TEAIE / AR 19 1.9 1.9 100.0
Don’t know/ Difficult to say
99. {E&E[0E HE
Refused to answer 3 03 Omitted
g&a=1 Total 1003 100.0 100.0
ERIEA Valid Sample: 1000 FLEREA Omitted Sample: 3
¥4 Mean: 3.70 fE#ESE Standard Deviation: 2.106



Q8 T[ElfFx 1% » HAETDMEEIHERR T - e - (IRARERE? 1277 IR
TUE?
Q8 “After the handover, Hong Kong is able to keep intact the sovereignty of China, national security and profits

from development projects. To what extent would you agree? From 1 to 7, what score will you give?’

SER B4 ARESE  EEESH
Frequency Percentage Valid % Cumulative %
1. 1 123 12.3 12.3 12.3
2. 2 77 1.7 1.7 20.0
3. 3 116 11.5 11.6 316
4. 4 145 14.5 14.5 46.1
5. 5 171 17.0 17.1 63.2
6. 6 139 13.9 13.9 77.1
7. 7 176 17.6 17.6 94.7
88. TEALE / SriEh 53 5.2 5.3 100.0
Don’t know/ Difficult to say
99. {E&E[0IE 3 0.3 f7IED
Refused to answer Omitted
BHRREA Valid Sample: 1000 FYEREA Omitted Sample: 3
154y Mean: 4.36 fEAEZ Standard Deviation: 1.984

Q9 "[EEFZI% - TR FIRIIESRIRE - INARERIE ? 1270 (REH&ESDE? |
Q9 ‘After the handover, Hong Kong is able to maintain prosperity and stability in the long term. To what extent

would you agree? From 1 to 7, what score will you give?’

YRR E4EL BRESE  EEESH
Frequency Percentage Valid % Cumulative %
1. 1 155 15.5 15.5 15.5
2. 2 117 11.7 11.7 27.2
3. 3 123 12.3 12.3 39.5
4, 4 164 16.3 16.3 55.8
5. 5 185 18.4 18.4 74.2
6. 6 132 13.2 13.2 87.4
7. 7 92 9.1 9.1 96.6
8. TEAIE / AR 35 3.4 3.4 100.0
Don’t know/ Difficult to say
4&=1 Total 1003 100.0 100.0
HRkEA Valid Sample: 1003 B EREA Omitted Sample: 0
1543 Mean: 3.90 fE#E32 Standard Deviation: 1.907



Q10 " ELREQUREE - (RFRTEE TG ) ARRINE ? WMRLAE TIEE AR . BT AR TIE
W) s 0 1875 IRGEREZIE ? |
Q10 ‘how successful has the practice of “Hong Kong people administering Hong Kong” been? If 1 indicates “very

unsuccessful” and 7 indicates “very successful”, what score will you give?”

SR8 B4 AxEStE  BRESHT
Frequency Percentage Valid % Cumulative %
1. 1 296 29.5 29.5 29.5
2. 2 171 17.0 17.0 46.5
3. 3 145 14.5 14.5 61.0
4. 4 143 14.3 14.3 75.3
5. 5 140 14.0 14.0 89.2
6. 6 49 4.9 49 94.1
7. 7 37 3.7 3.7 97.9
88. TEALE / SriEh 21 2.1 21 100.0
Don’t know/ Difficult to say
4&=1 Total 1003 100.0 100.0
BHRREA Valid Sample: 1003 BHYEREA Omitted Sample: 0
54y Mean: 2.96 fEAEZ Standard Deviation: 1.777

Q11 T{RAMAK(E LEEMRAZK (RI20474ER]T) REREVEE T —EIWH 5 UE ? WRIDRE TIFEE
Ly 0 BT TIREAEG L. 0 12T RGHREZIIE?
Q11 ‘How confident are you in the full implementation of “One Country, Two Systems” in Hong Kong in the

future (before 2047)? If 1 indicates “very unconfident” and 7 indicates “very confident”, what score will you give?’

SE% E e BRESL  EEESHT
Frequency Percentage Valid % Cumulative %
1. 1 329 32.8 32.8 32.8
2. 2 125 12.4 12.4 45.2
3. 3 118 11.8 11.8 57.0
4, 4 112 11.2 11.2 68.2
5. 5 117 11.6 11.6 79.8
6. 6 89 8.8 8.8 88.6
7. 7 79 7.9 7.9 96.5
88. TBALE / ArREM 35 3.5 35 100.0
Don’t know/ Difficult to say
g&=t Total 1003 100.0 100.0
HRkEA Valid Sample: 1003 i EEEA Omitted Sample: 0
“F545r Mean: 3.15 FEAEFE Standard Deviation: 2.049



Q12 " #NEMNHhIEE AR E R - Ritth o] E @SS e s DU - (RA SRS 0IE 2 R 1K
® TIREATEL.  BTORE TIREAGEL. 0 1ETD  REHREET?

Q12 “When conflicts between mainland China and Hong Kong arise, how confident are you that the conflicts can
be resolved through consultation and dialogue? If 1 indicates “very unconfident” and 7 indicates “very confident”,

what score will you give?’

SRS E5rtE BRESLE BB E S
Frequency Percentage Valid % Cumulative %
1. 1 284 28.3 28.4 28.4
2. 2 175 175 175 45.9
3. 3 136 135 13.6 594
4, 4 140 13.9 13.9 73.4
5. 5 102 10.2 10.2 83.6
6. 6 66 6.5 6.6 90.2
7. 7 62 6.2 6.2 96.4
8. VERIH / kM 36 36 36 100.0
Don’t know/ Difficult to say
9. {E&E[EE 3 0.3 e
Refused to answer Omitted
ga=fTotal 1003 100.0 100.0
HREA Valid Sample: 1000 H{ERE A Omitted Sample: 3
33543 Mean - 3.05 fE#EZ= Standard Deviation: 1.890

Q13 "KL FE TIEEAE L. - ToRE TIFEARE L. » IMEEBREHREA LG LIE ? 127
73 ARG S ?
Q13 “If 1 indicates “very unconfident” and 7 indicates “very confident”, what score will you give?’, how confident

are you in the education system of Hong Kong?’

SE ERe BEStE  BEESH
Frequency Percentage Valid % Cumulative %
L 1y GFEEL 370 37.0 37.0 37.0
2. 257 173 17.3 17.3 54.3
3. 357 205 20.5 20.5 74.8
4, 455 79 7.9 7.9 82.7
5. 557 86 8.6 8.6 91.3
6. 657 21 2.1 2.1 93.3
7. 1y GEEAREL) 40 4.0 4.0 97.3
88. VBRI / ﬁ%&?ﬁ 27 2.7 2.7 100.0
Don’t know/ Difficult to say
99. {EHE[EZE 9 0 A {E
Refused to answer Omitted
4E=1Total 1003 100.0 100.0
EREA Valid Sample: 1001 HEREA Omitted Sample: 2
SE¥543 Mean: 2.85 fE%EsE Standard Deviation: 1.622



Q14 TR1pARFE TIRERRE, - ToAFE TIFERE, - B TRGEEAN  BEEG - A%
[EUE ? L2757 > IRG &L I0E ? |
Q14 “If 1 indicates “extremely weak™ and 7 indicates “extremely strong”, how strongly do you identify yourself

as a Hong Konger? From 1 to 7, what score will you give?’

SER E ARESE  EEESH
Frequency Percentage Valid % Cumulative %
1. 1 33 3.3 3.3 3.3
2. 2 21 2.1 2.1 55
3. 3 36 3.6 3.7 9.1
4. 4 88 8.8 8.9 18.0
5. 5 162 16.1 16.2 34.2
6. 6 214 214 215 55.8
7. 7 407 40.6 409 96.6
gs, |CALH / SFHEk 34 3.4 3.4 100.0
Don’t know/ Difficult to say
9. fE4E (0% 7 0.7 %ME_
Refused to answer Omitted
4&=1 Total 1003 100.0 100.0
BHkEA Valid Sample: 996 BEREA Omitted Sample: 7
32543 Mean: 5.70 fE#EsE Standard Deviation: 1.559

Q15 "HRINAE TIFEARE . - TRE TIEERE, o B TRGTHEIA , VEESG - IRE R
[EWE ? 12773 > IREEHEZIUE ? |
Q15 “If 1 indicates “extremely weak™ and 7 indicates “extremely strong”, how strongly do you identify yourself

as a Chinese? From 1 to 7, what score will you give?’

SEB B4 BRESE BEES
Frequency Percentage Valid % Cumulative %
1. 1 148 14.7 14.8 14.8
2. 2 125 12.4 12.5 27.2
3. 3 94 9.4 94 36.7
4, 4 110 11.0 11.0 47.7
5. 5 131 13.1 13.1 60.8
6. 6 106 10.5 10.6 714
7. 7 260 25.9 26.0 97.4
88. TEALD / SrREk 26 2.6 26 100.0
Don’t know/ Difficult to say
99. fE4E[0)E 3 03 HR{E
Refused to answer Omitted
48=1 Total 1003 100.0 100.0
BHREA Valid Sample: 1000 H{ERE A Omitted Sample: 3
SE354 Mean: 4.34 fE#E2= Standard Deviation: 2.198



Q16 "1y HAFE FIFEEWE, » TR TIEEWE s - IREAB B IR /K A KImEE 2 127
73 ARG S E?

Q16 ‘If 1 represents “very unsatisfied” and 7 represents “very satisfied”, how satisfied are you with the
performance of civil service?’

BB Horth HEE T ZEE L
Frequency Percentage Valid % Cumulative %
1. 1 99 9.8 9.8 9.8
2. 2 140 13.9 13.9 23.7
3. 3 255 25.4 25.4 49.2
4, 4 218 21.7 21.7 70.9
5. 5 151 15.0 15.0 85.9
6. 6 77 1.7 1.7 93.6
7. 7 35 35 35 97.0
88. TEALE / SriEh 30 3.0 3.0 100.0
Don’t know/ Difficult to say
4&=1 Total 1003 100.0 100.0
ERkEA Valid Sample: 1003 HR{EFEA Omitted Sample: 0
54y Mean: 3.57 fEAEZ Standard Deviation: 1.534

QL7 T[EIERDAZK » MaEEE T —EWiH] s EFEEE MRS DoPE - BEEGEEE  (RRRE— TR ER
WOUE ? (RSE (Al ~ RERIT R ~ —F ~ RERAER - EFRTEEHEARTE ? |

Q17 After the handover, the implementation of “One Country, Two Systems™ has led to conflicts between Hong
Kong and mainland China. Generally speaking, which side bears the greater responsibility? Is it totally mainland
China’s, mostly mainland China’s, mostly Hong Kong’s or totally Hong Kong’s?’

SHEL Horth HX¥E e BEESE
Frequency Percentage Valid % Cumulative %
1. SE2GAH 75 7.4 75 75
Totally Mainland China’s
2. KEBSr &P # Mostly Mainland 234 23.3 234 30.8
China’s
3. —2f22 Half-Half 434 43.3 434 74.2
K& 4y {4 F #%  Mostly Hong 138 13.8 13.8 88.0
Kong’s
584{4% 4 Totally Hong Kong’s 52 5.2 52 93.2
VENIE /S5 Don’t know/ g 6.8 6.8 100.0
Difficult to say
99. IRE&E[EE 3 03 e
Refused to answer Omitted
g&=t Total 1003 100.0 100.0
HRkEA Valid Sample: 1000 BHEREA Omitted Sample: 3



Q18 " {ReR Ry 42047 L JENEIEZ BT 1T T —BlWiHI 5 B ? |
Q18 “Would you agree that Hong Kong should continue to implement “One Country, Two Systems” after 20477’

gL Btk ARESE  REEZEE
Frequency Percentage Valid % Cumulative %
1. JE:% Yes (4&[tcontinue to Q19) 671 66.9 67.4 67.4
IEfERZ No (Bkfskip to Q20) 138 13.8 13.9 81.3

Fofth - eS8 E 1T LART B ER]
HI— B A il
(48 Continue to Q19) 12 1.2 1.2 82.5
Others: Continue to exercise 1C2S
as before/ the introduction of 1C2S
6. HAtr, : E&0HE—BEIRIH], B
BT —B— N — R
(BEFT skip to Q20) 12 1.2 12 83.7
Others: 1C2S no longer exists/

1C1S already in place/ 1C2S is
non-existent

8.  BERIME 4 #ESE Don’t Know/

Difficult to say(Bkfskip to Q20) ~0° 16.2 163 100.0
9. BB Refused to answer (Bt 07 L

fiiskip to Q20) Omitted

4zt Total 1003 100.0 100.0
HREA Valid Sample: 996 FHYEREA Omitted Sample: 7

10



Q19 " RELFIEIRALEN 20474 » DU BRI & TRk 2047 1 BEETT T —BIWH o AFIE 2 4 (I
A HQL8[a B FEZ Y25 » A B TH)

Q19 ‘From now to 2047, which of the following conditions would be favourable to the continuation of “One
Country, Two Systems” after 2047?” (Only respondents who agree Hong Kong should continue to ‘One Country,

Two Systems’ after 2047 are asked, multiple answers allowed)

IVESEEE %N
HREL REEZ Horth
Frequency Percentage out of Valid
Sample
1. ifE—3b
BUblE— S RE( 274 102
Democratising further
2. 4R
dESERLE _ 161 23.6
Safeguarding National Security
3. “EFEEaAE
\ﬁ%‘m_&j Eh= _ 424 62.2
Maintaining a high degree of autonomy
4. BHERIESRTR
R EH 5ok ﬁ_ _ 3 406 59.5
Maintaining economic prosperity and stability
5 H =FH
st GE9D 10 L4
Others (please specify)
8. TERIE Y 56 6.2
Don’t know/ Difficult to say '
4=+ Total 1332
BHREA Valid Sample: 683 H{EAE A Omitted Sample: 320

* ZESEEREEHEE (AHED RUAREARAE (1668 A ) MY « IhIl - HREFFZIBL TEN—HE
F o WHEEAEE TS 100% -
* The percentage of an option is its frequency divided by the number of valid samples (i.e. 668). Since respondents may choose

more than one option, the sum of percentages may exceed 100%.

11



Q19_OTH " R FALIRAEFI20474 » DU BRI & H T BIR2047T 12 BE BT T —BINHl , AFVE ? |
(HAEZ)
Q19 _OTH ‘From now to 2047, which of the following conditions would be favourable to the continuation of “One

Country, Two Systems” after 2047? (Other answers)

BB Bkt AREStE BEEZEE
Frequency Percentage Valid % Cumulative %
11 HAh - SR EE S E H
Others: Maintaining freedom of 5 0.5 49.6 49.6
speech
13. H -5 |52 TV/ANN VAN
3. HA: FIREEAPAIE o1 94 50.0

Others: An egalitarian system

15, HAM : 4EFrEIEE e L
Others: Maintain the status of 1 0.1 12.7 71.8
International Financial Centre

17, Hfth - BEEEEBOR

Others: Changes of education 1 0.1 6.8 78.5
policies
18.  HAth: Fr&BUTETTH
Others:  Executive power of 2 0.2 21.5 100.0
HKSAR Government
M Not Applicabl !
o. M NotApplicable 993 99.0 TAE
Omitted
4=t Total 1003 100.0 100.0
BHREA Valid Sample: 10 F{EAEA Omitted Sample: 993

12



Q20 "HFEBUMTRL TILEENEE , RS - MR RIFHEAGATRGEASL - EAEL > ERTT

Q20 ‘HKSAR Government proposed the Northern Metropolis Development Strategy, do you think this brings
positive, negative or no impact to Hong Kong’s future?”’

HHEL Horth BHRE REAEEE
Frequency Percentage Valid % Cumulative %
1.
EE. 217 21.7 21.8 21.8
Positive
2.
S . 347 34.6 34.8 56.6
Negative
3. ik 2
e 320 31.9 32.1 88.7
No impact
8. DEA13E S
Al SFRER 113 11.3 113 100.0
Don’t know/ Difficult to say
9. B4R [EZ 5 05 HHE
Refused to answer ' Omitted
g&=1 Total 1003 100.0 100.0
HXEA Valid Sample: 998 H{EAEZA Omitted Sample: 5

Q21 " I S ER BRI KU MRl H e il EE - (R B B TR E eI E R & - ARCE
TE R EE ©

Q21 “The election method of Legislative Council has been revised and its election completed, do you think this
will bring positive, negative or have no impact to Hong Kong’s governance?’

KRB Horth HRE 7 REAIEE
Frequency Percentage Valid % Cumulative %
1.
E@. 229 22.9 23.0 23.0
Positive
2.
S ] 451 45.0 45.2 68.2
Negative
3. fmEa
A 223 22.2 224 90.6
No impact
8. D13 &
A,/ SRR 94 9.4 9.4 100.0
Don’t know/ Difficult to say
9. B4R EE 6 0.6 HE
Refused to answer ' Omitted
4&=t Total 1003 100.0 100.0
BHRHEA Valid Sample: 997 F{EREA Omitted Sample: 6

13



Q22 " fREgiE GBI B E HA T E e R (B - 53 - AR - BIk) ?4E -
g EGREEIE?
Q22 “Would you consider living or moving to other cities of Guangdong-Hong Kong-Macau Greater Bay Area

(for study, employment, business or retirement)?’

SEBY ELE BREStE  BEESH
Frequency Percentage Valid % Cumulative %
1. —E@ Definitely will 55 5.5 5.6 5.6
2. HHE® Maybe 169 16.9 17.1 22.7
3. rEar No 659 65.7 66.5 89.2
8.  UBRHIE IrEE
Don’t know/ Difficult to say 107 107 108 100.0
9. {E&E[%E 1 19 HE
Refused to answer Omitted
4=t Total 1003 100.0 100.0
BHREA Valid Sample: 991 B A Omitted Sample: 12

Q23 " RARKR LA FEHERE & M RSN TRIE 2

Q23 ‘Do you have any plans to emigrate from Hong Kong in the next five years?’

HHEL Horth HRHE 7T FrEE 7
Frequency Percentage Valid % Cumulative %
. HITE Yes 224 22.4 23.0 23.0
2. #EFTE No 641 63.9 65.7 88.7
HEA7E
Doiq?kioﬁ;gfﬁcult to say 110 110 113 1000
9. IE&E[NE 97 27 HR{E
Refused to answer Omitted
0. “fEH (EBR/
CASNERE) e
Not Applicable (already emigrated/ 1 0.1 Omitted

already possess right to abode in
foreign countries)

4B Total 1003 100.0 100.0
B4 Valid Sample: 975 H{EEA Omitted Sample: 28

14



POL "SEEIFMIECAMHEES - (RS H CEE L N EEEYE 2 5 (EH1-6)

POL “When asked about your political inclination, which political camp do you incline to identify yourself with?’

(Read options 1-6)

HRE Harth B E ST REH L
Frequency Percentage Valid % Cumulative %
1. ZEH#HR Pro-establishment 118 11.8 12.2 12.2
2. EFJk Pro-democrat 142 14.1 14.6 26.9
3. A4k Localist 45 45 47 31.6
4, SR Centrist 108 10.8 11.2 42.8
i VAN e
5 AEMEMECE T No political o 483 50.1 92.9
inclination
H : 1 : -
11. /\ﬁﬁ_ JEE#(Jx Others: Non 1 11 11 94.0
establishment
12, HAt : HiF)
L ¢ LI 2 0.2 0.2 94.2
Others: Resistance
88. IELIE z
RIE S e 56 5.6 5.8 100.0
Don’t know/ Difficult to say
9. 1E4E[O]% Refused to answer 35 35 ﬂﬁ_
Omitted
48=1Total 1003 100.0 100.0

HRUEA Valid Sample: 968

GENDER =7z 1R Gender of respondents

HEREZA Omitted Sample: 35

gL Horth HREDEE BEESE
Frequency Percentage Valid % Cumulative %
. 5 Male 472 47.0 47.0 47.0
2. 2 Female 531 53.0 53.0 100.0
4E=t (Total) 1003 100.0 100.0

HRfEZA Valid Sample: 1003

AGE " IRESH LU T B E R A VE 2

Z8 H{Read options 1-6)

B EfEA Omitted Sample: 0

‘Which age group does you belong to?’

SEB Ei5rtE BRESE BEESH
Frequency Percentage Valid % Cumulative %

1. 18-29 145 14.5 14.5 14,5

2. 30-39 162 16.2 16.2 30.6

3. 40-49 171 17.1 17.1 47.7

4. 50-59 189 18.9 18.9 66.6

5. 60-69 176 17.6 17.6 84.1

6. >70 159 15.9 15.9 100.0

4Bt (Total) 1003 100.0 100.0

BFEA Valid Sample: 1003
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EDU "I EREEEFHE0E 2 | ‘“What is your educational attainment?’

HREL Horte AXESE BEESLE
Frequency Percentage Valid % Cumulative %
1. /NEECLLUR Primary or below 101 10.1 10.4 10.4
2. ?3[)’] (Fp—%Frf1=) Secondary (F.1- )4 13.1 13.4 23.8
= pay N
3 =l (PRI Secondary o 27.2 27.9 51.7
(F.4-F.7)
4. H IR (BESCEEIEAAVE
) _ _ o132 13.2 13.5 65.2
Non-degree tertiary (including
diplomas, associate degrees, IVE, etc.)
. REEEE{] Bachelor’s degree 282 28.1 28.8 94.1
6.  W7Eh (BfEE AR
Postgraduate  degree  (including 58 5.8 5.9 100.0
master’s and doctoral degree)
9.  {E4%[1%Refused to answer 26 2.6 HE
4E=t (Total) 1003 100.0 100.0

FHRAEAR Valid Sample: 977

HHEREA Omitted Sample: 26

WORK T g H Hi{&IEAIERE A 1TE ? | ‘Are you currently an employed person?’

FREY Horth HRE I BEESE
Frequency Percentage Valid % Cumulative
1ER% A Employed 575 57.3 59.1 59.1
F 5 Homemaker 75 75 7.7 66.8
3. JR{K Retired person 218 21.7 22.4 89.3
4 (5 AR AR (VLS 43 4.3 44 93.6
Job seeker
B4 Student 62 6.2 6.4 100.0
{E4E[E)% Refused to answer 31 3.1 E R
4a=1(Total) 1003 100.0 100.0

HkEA Valid Sample: 972
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B EfEA Omitted Sample: 31



AR AR
Explanatory Notes on Weighting

EEEH A R EERE RIS T - (R B B A EEEESRS RO B B SR SR IS 0045 SRR AR BB ARl USRS
IR R0E > SR EET oI RE B A D G (EIIREREEE - NOREN T £ B % & B BUN ST IR A6
2021 A P 8RR B LA BRI R SRl i (FOBRIMESER ) R - Rt TS A A R o i LA
DTy o i FEEBIMEERES - DUE R AR R R R0 o i BT 2021 of (FTRRSNE R FEE ) AT
953 A o FHFSAER o N FIRHEA 5 SE [ 4 R ST aS SO B FE st ks - Ry S Bt A TR B A A B R R 7 2K
LR - IR ARHE (B BRGRE - ARERRIIT -

A dual-frame sampling design was adopted. It randomly selects phone numbers from a combined sample of
residential landline and mobile phone numbers. As a standard practice, survey data will be weighted by population
distribution in Hong Kong. The weighting factors were adjusted by the proportion of gender and age of people
aged 18 or above (excluding foreign domestic helpers) according to the mid-year population for 2021 statistics
released by the Census and Statistics Department. Given many individuals may own both landline and mobile
phone numbers, two steps were added in the weighting method to avoid estimation inaccuracy caused by double-
counting or other unknown factors. The weight factors are as below.

wAENCM (%)

SHERAT M (%)

Jilit: SRR

FESAH Population Distribution* (%)  Distribution of Sample (%) Weighting Factors

Age Group B Male % Female B Male % Female B Male % Female
(A) (B © (D) (A+C) (B+D)

18-29 447500 430100 613109 528798 0.729886039  0.813354653
30-39 461000 521300 738173 548645 0.624514900  0.950158903
40-49 460300 575000 955014 698857 0.481982631  0.822772553
50-59 518400 627200 691956 818239 0.749180243  0.766524251
60-69 527500 539400 774567 819710 0.681026008  0.658037592
>70 440400 521900 504759 436406 0.872495729  1.195904748

* kY EEZZ % excluding foreign domestic helpers
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HB— : BEESISIRA R
Step 1: Telephone ownership

HIA A AR R 8E BB SR FR SRS - sl AR A RE o RAIFRER— AHGEER
TG > B DREMREEHZIE BT EIRE R > RIS 28 E A RS E S E L5
TR - Wb 2R EEREES R TR - IR T1 (WTL) ZtE TR AZshaitdh
PR EE R o BIWTL = mit -

Since each individual owns a different amount of landline and mobile numbers, each has a different probability of
selection as respondents. To eliminate over-representation of any individual, the first step is to approximate the
probability of selection for each respondent. It is a ratio of the amount of landline and mobile numbers owned by
a respondent to the total number of those in the territory. Weighting factor 1 (WTZ1;) is calculated by the inverse
of probability of selection of individual i, i.e. WT1;i = m 2.

L
;= Ir\l]—i %+ ﬁ x t"
L [ = FiM Ty AL
n, = X EE A E SR AR H
N, = R fE S A B S R AR
ti = Fi N LR P AR E R E
el = EFPEERZIHAR
- = TR AR E
Ny, = ESIER i iRtk
t" = Fi N LE A AR TSR H
Where i = i-th person selected
ny, = amount of sample’s landline numbers
N = amount of population’s landline numbers
th = amount of i-th person’s landline numbers
ek = amount of eligible respondents in the household
Ny, = amount of sample’s mobile numbers
N = amount of population’s mobile numbers

i = amount of i-th person’s mobile numbers
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FEE—  ADfERE

Step 2: Population estimates

Fo T OreG R B8R FAE S E B N iV H BB > BIRAE T 0T IR E BT S A MY 185%
SRPL_EVER Rl o i (FOBRIMNESEE L) - IR T2 (WT2) ByEtEI5E > BIEADGET ]
FIEEERAEAIRY N CIEET > BROASBINRE R T LIDREIR AR & s AR IR AN IBEA -

To better represent the distribution of the Hong Kong population, all data were weighted by the proportion of
gender and age of people aged 18 or above (excluding foreign domestic helpers) according to the latest population
distribution released by the Census and Statistics Department. Weighting factor 2 (WT2) is calculated by dividing
the population estimates of a gender and age group by the sample size of the corresponding group adjusted by
weighting factor 1.

&5 Final Step

EREIIFER T EITEAT ¢
The final weighting factor is calculated by the following formula.

WT_F =WT1 « WT2

= WT_F = BRI
WT1 = HIFERF1
WT2 = JIFEN T2

Where WT_F = Final weighting factor
WT1 = Weighting factor 1
WT2 = Weighting factor 2
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